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MECHANICAL





Nitrogen



Fuel Gas

Turndown is 
85% of normal 
flow. Please 
explain this figure.



Will it be good for both position - 
horizontal and vertical?

The columns here should 
match those on pages 1 and 2

Design,Normal,
case 2, Start up (N2),
Transition 1,
Transition 2.
There is no summer
and winter case..
Please refer to 
Bantrel/PC datasheet
Rev 1.





This is a back to back machine.
Why a balance piston?
DR confirmed earlier that none in required.





The set points for alarm & shutdown can not be same.
Provide correct setpoints.






